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Liebscher 102

Figure 1: Pythagoras’ theorem in Minkowski geometry
We draw a rectangular triangle using the Minkowski rule to find right angles. The right angle is that at C. Squares
are diamonds with light-like diagonals (four right angles and symmetry). Then, we obtain the squares about the
hypothenusis and the sides as shown. Comparing the areas we obtain that the square about the hypothenusis is equal
to the difference of the squares about the opposite sides.

ACCBAp = ACPcAc =QaQcCQ
BAAcBec = QBQaQB, CsBsBC =QcQsBC
— BCCaBs — ACCpAp = AcBcBA .



